[image: image2.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


Y40SDM
Yamaha MT-03 2015-
	Kit for left side
	Kit for right side

	
	
	
	
	
	
	
	
	
	

	ID
	Popis
	Kat.č.
	Ks
	
	ID
	Popis
	Kat.č.
	Ks
	

	1
	SLDM adapter
	537/B
	1
	
	1
	SLDM adapter
	537/B
	1
	

	2
	Bolt M10x125x1,25mm
	924
	1
	
	2
	Bolt M10x125x1,25mm
	924
	1
	

	3
	Dural. roller d=48mm
	1203
	1
	
	3
	Dural. roller d=48mm
	1203
	1
	

	4
	Dural. roller d=20mm
	10
	1
	
	4
	Dural. roller d=20mm
	10
	1
	

	5
	Bolt M6x20
	1024
	2
	
	5
	Bolt M6x20
	1024
	2
	

	6
	Flat washer M6
	1023
	2
	
	6
	Flat washer M6
	1023
	2
	

	
	
	
	
	
	
	
	
	


Instalace (stejná pro obě strany):
1. According to the attached photo to unscrew the original screw
2. On steel ID.2 bolt mount SLDM adapter ID1, duralumin ID.4 and duralumin roller ID.3.
3. Attach this kit to the motorcycle frame.
4. Finally, attach the slider using ID5 bolts and ID6 washers.
We recommend using thread glue. (moderately strong - blue)
[image: image3.jpg]



[image: image1.jpg]



[image: image4.png]



2

